
Household Problem

max
{ct,dt,mt,nt}∞t=0

[
Et

∞∑
t=0

βt
{
U (ct, ct−1)− V (nt)

}]

subject to,

ct 6
mt−1

πt
+ ntwt − dt

and

mt 6
mt−1

πt
+ ntwt − dt − ct +RD

t dt + Πt − τ t

Constraints are binding;

ct =
mt−1

πt
+ ntwt − dt

ct =
mt−1

πt
+ ntwt − dt −mt +RD

t dt + Πt − τ t

Government budget constraint

gt = τ t +

(
mt −

mt−1

πt

)

Profits

Πt = yt − wtnt

In equilibrium dt = 0 and we can combine the household budget constraint, the definition of profits and the

government budget constraint to get,

yt = ct + gt
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